YAMAHA 08 WR250R TAIL PLATE HTP9-4-7

>
6 HAPPY-TRAIL.COM

Thank you for purchasing Happy Trails products. Our products are proudly hand made in Boise Idaho,
USA. If you have any questions or concerns about the installation of this product, please contact us di-
rectly at 1-800-444-8770 or e-mail installation@happy-trail.com.

Before you begin, place the bike on a hard level surface where you have
room to work. Lay out the parts included in this kit and compare to the
parts list of these instructions. If any parts or hardware are missing, con-
tact us immediately at the number or email listed above.

Bolt List:
- Hardware List:

4 M6X60 BHCS****

4 M6 NYLOCK NUT Tail Rack

4 3/16” WASHER Bolt Kit

4 5/8"X1-1/4” SPACER Instructions
4 3/4"X1/2” SPACER

—olfl

e —

) mmm
00000000

1. Remove rear fender & drill four 3/4” holes in the indentations that line
up with the four mount locations on the sub frame on the bottom side
of the fender.

2. Reinstall the rear fender, place the 5/8 outside diameter spacers in the
newly drilled holes in the fender, place the 3/4 outside diameter spacers
on top of the 5/8 outside diameter spacers, insert the bolts and secure
the tail plate to the bike.

-

O

Happy Trails Products



